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All questions are compulsory.
.(ii) g i 1 W 5 a® A @Y 0T I E) RS e W 1 3o Jmaied ©l W
® IR 0F IE I S dgd ¥ e
Question Nos. 1 to 5 are very short answer type questions. Each question
carries 1 mark. Answer should be given in 1 word or 1 sentence.
(ii)) 5 PGB 6 F 10 T TP 9 R 2 3F @R & (I S - 30 9=)
Question Nos. 6 to 10 carry 2 marks each. (Word limit — 30 words)
(v) 1 B 11 F 22 T 9B W R 3 g amaed #1 (9= A - 50 )
Question Nos. 11 to 22 carry 3 marks each. (Word limit — 50 words)
(v) 7 PHD 28 W 4 3B HEA B (90 - 70 vrm)

Question No. 23 carries 4 marks. (Word limit — 70 words)
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(2)

(Vl)mﬂa‘qiasmﬁzeﬁmmmssﬁaﬂé‘féaél (Y& dr - 100 )

Quest;
estion Nos, 24 to 26 carry 5 marks each. (Word limit - 100 words)

V.. i -
(ll)aﬁraﬂmmﬁraﬁrmﬁmﬂ%w%ﬁammmﬁm%iﬁﬁl
Write chemica ®Quation and draw clean and labelled diagram wherever
Necessary.
He-1 SR g Sp— T & 1
What do yoy understand by solid sol ?
ST-2 ﬁWq-TzasrmlqaualupAC#mw%‘? 1
What is the molecular formula and IUPAC name of Freon-12.
o3, CH, - CH, —C':H=(|3H—CHE.OH & IUPAC 9 @1 & 7 1
CH, CH,
What is IUPAC name of ?
CH, ~CH, - GH- CH-CH,0H
CH; CH,
w4, Pefem faeem A @ &2 1

What is Fehling solution A ?
WgH-5.  3aed® Ul 3 @1 US JeTeRvT ffan
Write one example of non-essential amino acid.
W6, Wﬁwﬁﬂﬂ?mﬁmﬁmﬁﬁaﬁgamwi )
Write any two differences between positive ang Negative deviated non-ideal

solution.

W7 Wﬁﬁwﬁmﬁmwm%ﬂmﬁnﬁmWQmmJg!z
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W -8.

-9,

AE-10.

w11,

3)

Calculate the half life period for a first order reaction when the rate constant is

2 min~1,
TEoF TR & A0 ) o9 feaa #1 w2 2
Why is nitrogen less reactive at room temperature ?
Pry afifsar § a8 o 3 & AW 3 @ fofaw 1+1=2
NO,
H,/Pd

Write the name and formula of the prdduci formed in the following reaction :

NO,
H,/Pd

sorETsifw aiREe @ Ee § & dRefia B0 P daw whawor dfel 2
How will convert Benzenediazonium chloride into Benzene ? Give equation only.
gaﬁﬁaaamwwﬁﬁmmmaﬁoasaméummw
Wﬁﬁu%soaﬁﬁ\waﬁwogf%am'o‘i(mazammmgmomﬁ

mﬁwmmﬂwmﬁo.%mﬁmaﬁmaﬂmmw

2 ? TR Bl 3

The vapour pressure of pure solvent at a certain temperature'is 0.850 bar. A
non-volatile, non electrolyte solute weighing 500 mg is added to 39.0 g of
solvent (molar mass 78 g mot=!). The vapour pressure of the solution, then is

0.845 bar. What is the molar mass of the solute ? Calculate.
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12,

H¥F-13.

A¥-14,

HE-15.

We-16.

HEH-17.

qF-18.

(4)
ST B DR & oy ey e @ 7 o B B b 5 B dm Reri
B g forRap 2+1=3

What do you understand by the order of reaction ? Write the unit of rate

constant for second order reaction.

T IR0 A o wwey @ 2 IR0 Hied FHEEa|

What do you understand by Homogenous ? Explain with example.
PR O & A D P AW, GI T P 0B J9am ferRad|
Write the name and formula of two ores of copper and its' use (only one).
(3) 3R deiem diffs $ XK yeR @ e JeTeRv fofae| 142=3
@ Faw & & v fifav

(a)  Write an example of )0<; type interhalogen compound.

(b)  Write any two uses of Neon.

14+2=3

1+4141=3

WedR & Jiedl gl & AW 3R W @3 fofEd @ d 3
Write the name and structural formula of oxy acid of sulphur (any three).
fFrafofaa sueewdist diffel & IUPAC m forfae - 3

(i) [P(CI,*

(i) [Co (NH;)g] Cly

(ii) Ky [Fe (CN)q]

Write the IUPAC names of the following co-valent compounds :
(i) [Pt (Cl)l%

(i) [Co (NH3)gl Cly

(i) K, [Fe (CN)gl _
7 A @ w@ (P TRAG whew e @ gwr sam @ oam

forfa) - ' 1%+1%=3
@) o R a3 B B s &
(3) ﬁ%ﬁﬁ%ﬁmm@ﬁm-wmﬁmﬁmﬁﬁ%mmg,
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What happens when (write the reaction ang 5o
© of major

(a)
(b)
we-19.  (3)

()

(|)

(a)

(b)

(c)

w-20. (37
(a)
(a)
(b)

(5)
Propene react with hydrobromic acig, product) :
Methyl bromide reacts with magnesium mety) i, th
© presen
firE ce of dry ether.
s & TR TS U 5% vt o (e
e fafEd) e

TG B i B :
OH

1+14+1=3

+ Br, (@) —

R qRads B o 7 (FEeR foRee)
s wivgs ¥ Ao e
How do you obtain aliphatic primary alcohol from Grignard reagent ?

(Write only chemical equation)

Complete the reaction :
OH

+ Br, (water) —

How to make the following changes ? (Write the equation)

Benzyl chloride to benzyl alcohol.

fﬁmﬁﬁmwwﬁﬁ?ﬁ%ﬂmw' 211=3

ﬁzﬁqﬁﬁﬁ#mmﬁmﬂww‘

accharide y two examples.

ite an
What do you understand by polys 7 Write

I itamin C-
Name a disease caused by deficiency of Vitam!

- P.T.0.
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e -21.

"H-22.

H¥-23.

"e-24,

(6)

() wphe = :
(i)  FaEfe

(i) @[ (Pvc

Write the name of monomers of the following polymers :

(i) Natural rubber

(ii) Neoprene

(i)  PVC

MeeR A AT T T £ Bl e AR B aw Pfadl 1+2=3

What do you understand by pain relief ? Write the names of any two pain relief
drugs.

e fewoh fefae - 2+2=4
(31 e arua

(§) THGg &

Write short notes :

(a) Radius ratio

(b)  Coordination number

3@ OR
Hfarg oot foRae -
(3 fowea D
(@) D P

Write short notes :

(a) Crystal lattice

(b)  Unit cell

(i) ﬁﬂﬁﬁﬁﬁmﬁh%ma&mﬁﬁ: 1Y241%+2=5
3 1 s AR AT

@ 1 @@ MO, 3 Mn® H

(i) mwmﬁmﬁmam%ﬁm
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qe-25.

(7)
(i) How much charge is required for the followin
9 reductions -

(a) 1 mole of AP* to Al '

(b) 1 mole of MnO; 10 Mn?*
(i)  Differentiate between electromotive forc

© and potential difference.
(Any two)
s OR

() ﬁlﬂﬁﬁﬂﬁaﬂaﬁﬁﬁaﬂﬁﬁmmgﬁhﬁgﬁm%.

[31)114‘|?TH203?r02ﬁ

@ 1 A FeO @& Fe03 q
(ii) mﬁﬁ%ﬁ@ﬁﬁﬁﬂ%%ﬂﬁ&tﬂ?ﬁ%m (@5 A

(i) How much electricity is required in coulomb for the oxidation of :

(a) 1 mole of H,0 to O, https: www.cgboardonline.com

(b) 1 mole of FeO to Fe,0;

(ii) Differentiate between primary cell and secondary cell. (Any two)

(31) Eﬁqﬁﬁﬁﬁﬁuﬁlﬁgﬁﬁ%ﬁaﬁﬁﬁ\ﬁfﬁﬁ—O—H%Ipﬁaﬁﬁmﬂﬁq
(H+}Z}'m%%ﬁ9ﬁmmﬁﬂﬁﬁm,aﬁ? 2+3=5
@ P ofifast 31 & o e e
(i) TS i
(i) 3B ififean
(i) @ ST
(a) Why acetic acid gives proton (H*) but ethyl alcohol dosen't: aithough both
of them have hydrogen atom attached to @ oxygen 2t (= 'O —H7
¢ following reaction

(b) Write the complete chemical

() Rosenmund's Reaction

(i) Etard Reaction

(ii) Clemmensen Reaction
‘/7 P.T.0.




(8)
Fuar OR

@) P, theame ¥ ow Mo o & @ B A
(¥) wm%m(ﬁﬁaﬁaﬂwm):

(1) Rreré sfirerds & fsar co, ¥ &7 21

(2) v¥Rfeems & fsar HON & @ o &)

(3) wR® apa pel, ¥ fvar axan 21
(@) Ketones are less reactive than aldehydes. Give suitable reasons.
(b)  What happens when (write equation only) :

(1)  Grignard reagent is reacted with CO,.

(2) Acetaldehyde is reacted with HCN.

(3) Acetic acid is reacted with PCls.

=26, (30 faw ol 5 wed &2 Iw@ o Iwm el 2+3=5
() o9Es vd ofieae § o8 a9 3R fafael
(a) What is meant by Alloys ? Write any one use.
{(b) Write any three differences between lanthanoids and actinoids.
: Jgar OR

(a1 firer et ReY @Ra €2 o B w Iwam fafee
(§) d9mEs vd ofie s ® P O wWean o
(@) What is meant by "Misch metals" ? Write any one use of it.

Write any three similarities between lanthanoids and actinoids.

C-232202-B 60,380



